
There are 3 pencils in a box. How 

many pencils are there in 5 boxes? 

 

Each car holds 4 people. How many 

people can fit in 7 cars? 

There are 9 eggs in each box. How 

many eggs are there in 3 boxes? 

 

35 Pencils are shared between 5 children. 

How many pencils does each child get? 

I have £1 in my purse in 10 pence pieces. 

How many 10 pence pieces do I have? 

 

I have 28p in 2 pence pieces. How many 2 

pence pieces do I have? 

Tricycles have 3 wheels. How many 

wheels are there altogether if there 

are 12 tricycles? 

 

I have 50p  in my purse in 5 pence pieces. 

How many 5 pence pieces do I have? 

Steven picked 21 roses from his garden. 

Steven shared the roses out amongst his 7 

friends. How many roses did they each 

get? 

 

Ben wants to buy 5 lollies for each 

of his six friends. How many lollies 

will he need to buy?                                                                        

Pens come in packs of 35. We need 5 in each 

pot. How many pots do we need? 

 

In my purse I had 9, 5p coins. How 

much money did I have? 

A car has four wheels. How many 

wheels do 5 cars have altogether? 

 

There are 10 eggs in a box. If I buy 

14 boxes how many eggs do I have? 

   


